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Martina has enough money to pay for
6 months of the service. She will have $8
left over.

Rubric

1 point for the answer; 1 point for
explaining the remainder in the context of
the problem; 1 point for explaining the.
quotient in the context of the problem

There will be 49 teams. The teams will
not all have the same number of
students because there will be
48 teams of 7 students and 1 team
of 6 students.

Rubric

a. 2 points

b. 1 point for stating there will be.
49 teams; 1 point for stating the teams
do not all have the same number of
students; 1 point for stating why




image7.png
11.a.
9 9

13)117 13118 13]i19

"7 17 M7
0 1 2
b. 120 + 13 will be 9 with a remainder of
3. In each of the three quotients, the
remainder increased by 1 every time
the dividend increased by 1
c. The remainder cannot be the same as
the divisor. The correct quotient is 10.
Rubric:
a. 1 point for each quotient;
b. 1 point for the quotient of 120 + 13;
1 point for explaining the pattern
c. 1 point for explaining the error; 1 point
for correct quotient
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6.NS.2
SELECTED RESPONSE CONSTRUCTED RESPONSE
Select the correct answer. 6. A skyscraper with 102 floors is 1,326 feet
1. Divide. 196+ 28 tall. Each floor is the same height. How
® 6 tallis each floor? Show your work.
® 6R27
© 7RI
@7
2. Divide. 987308
® 3
® 3R14
© 4 7. An apple orchard harvested 3,584 apples
® 14R3 and separated them evenly into

3. An art teacher has 192 containers of
paint for 17 students. Ifthe teacher wants
to provide each student with an equal
number of containers, how many
containers will be left over?

@ 0
® 5
©7
@ 18

112 bags.
a. How many apples are in each bag?

b. 1156 apples were placed in each bag
instead, how many bags would be
left over?
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4. Alocal theater can seat 2,254 people.
The seats are arranged into 98 rows.
Each row has the same number of seas.
How many seats are there in each row?

® 15 ©2n
® 20 ® 32

Select all correct answers.

5. The event staff for a local concert hall has
73 tickets to sell. Ifthey sell all of the
tickets at the same price, they will have
$438. Which of the following people have
enough money to buy aticket?

@® Celia has $4.50.
® Louis has $7.00.
@© Jan has $6.50.
® Nicola has $6.00.
@® Chuck has $5.00.

8. Amovie streaming service charges its
customers $15 a month. Martina has $98
saved up. Will she have any money left
over if she pays forthe maximum amount
ofmonths she can afford? Explain.
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9. Maurice says that 1079 = 62s 16 with a b. How many groups should there be?
remainder of 87. Will all the groups have the same
a. Without seeing his work, how can number of students? Explain.

youtell Maurice divided incorrectly?
1. a Find 11713, 118+ 13, and

b. Mauriceis correct about this fact
16 x 62 + 87 = 1079. Explain how
you can use that fact to find the
correct quotient and remainder for
1079 + 62 without actually dividing.
Then find the quotient

119 = 13.

b. Without dividing, what s the quotient

0f120 = 137 Use the pattem you
found in the firstthree problems to
explain you answer.
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10. The administrator of the school is dividing
342 students into 38 groups to do ateam-
building exercise. One of the guidance

counselors says that the exercise will be ©. Accordingto the pattern, 130 = 13

most effective f there are 7 or fewer should be 9 with a remainder of 13.

students in a group. Explain why that is incorrect and find
a Explain why the administrator’s plan the correct quotient

is not as effective as it can be.
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6.NS.2 Answers
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The floors are 13 feet tall

Rubric
1 point for work; 1 point for answer
7.a. 32 apples
b. 48 bags
Rubric
a. 1 point
b. 2 points
8. Yes;

.
15)e8
-9

9 a

10.a.

‘The remainder, 87, is larger than the
divisor, 62, 50 16 is not the maximum
number of times 62 can go into 1079.
Maurice found a quotient that is too
small, so increase 16 by 1in the
expression 16 x 62 + 87, sublract 62
from 87, and see if that gives a
remainder of less than 62. If you
multiply 62 by 17, you get 1054, which
is 25 less than the dividend of 1079.
The correct quotient is 17 with a
remainder of 25

Rubric

1 point for the error;

1 point for the correct answer;

3 points for explaining an appropriate
method that doesn't involve division
The administrator's pian will not be as
effective because there will be

342 + 38 = 9 students on each team.
This is more than 7 students per team
Divide the number of students by 7.
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